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Homework Questions?

Addition and Subtraction With Scientific Notation Date Period

Kuta Software - In

Simplify. Write each answer in scientific notation.

1) 3.1x10°+4.3x 10’ 2) 3x 10"+ 6.4 x 10>
74x10° 6.7 x 10°

3) 24 x 10%+5.57 x 10° 4)5x107+1.6x10"
2.957 x 10* 516x 1072

5) 2.5x 10" +6.14 x 10* 6) 7x10" +6.4x 107
6.1425 x 10* 7.00064 x 10"

7) 5x10°+33x10°° 8) 8x 107" +6.9x10°
5.0033x107° 6.9008 x 10°

9) 1.39x 10° -4 x 10° 10) 2.74x 107 - 6.53 x 10™*
1.386 x 10° 273347 x 10™

11) 8.14x10° - 7.8 x 10 12) 636x10°~58x 10"
8.1322 x 10° 6.35942 x 10°

13) 5.1x 107" +0.38 x 10* 14) 5.9x 107~ —-0.078 x 10°
3.80051 x 10° ~7.7941 x 10"
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When adding or subtracting using SN:

1. Create "like terms" - the exponents on
the 10's should be the same. (Choose
the greater value.)

2. Perform the operation.

3. Make sure your answer is in proper
Scientific Notation form.



Operations with
Scientific Notation

6 x 10’
3x10°

1.2x 10"+ 3x10°

What would happen if we replaced 10 with a
variable?

9
| 2 a7 . 30‘\3 "a" is our z&a _ 20‘4
20 Q |0 common base 2) &\3

7
12x107-3x10°  9x10
10" is our 3X103

2 x| OIO common base 9., " lozg

It is the exact same process that we
are used to using with monomialis!
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Multiplication
When numbers in scientific notation are muiltiplied, only the
number is multiplied. The exponents are added.
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(2.00 x 103)(4.00 x 10%) = (2.00)(4.00) x 103+4

= 8.00 x 107

Division
When numbers in scientific notation are divided, only the
number is divided. The exponents are subtracted.
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9.60 x 107 _ 960 .7,

1.60 x 104 1.60 T

= 6.00 x 103

. (4% 102)(2.2 x 105)

33510
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. (4.1 x 103)(5 x 105) 8 6.6x 107
3x 106
. (25x10%)(4 x 1077) 10. 46x107%
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Operations with Scientific Notation

These should all be solved without using a calculator. Make sure your answers are in proper scientific
notation.

1 (25x109@Bx10%) = 2. (3x107%)(3x10710) =
3. (4x10)(2x101) = 4. (6x105)(4x103%) =
5 (5x107%5)(7x 108) = 6. (2x1079)(7x1078) =
7. (7x109(3x1077) = 8 (4x10719)(3x 1013) =
9. 26x107° 10. 5x10%

13x10° 2x103
11.  1.2x107 12. 23x1073

4%x105 46x10°
13, 7x10°° 14, 9x107°

35x10°° 3x10-3

15. 2.8x10° 16. 2x1072

4x10-7 8x10-11



Homework

Finish classwork




